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1) f:dcﬁoﬁse usrnﬁ CoMmimen Facfof
a) Qo + U
@ 6x -9
r:) Sa + &

2) Solve these equa Lions
a) Ll = 1 f)) e 7 B &
‘ c) 21 = IO d)

=
)
e) 5¢ +4 = 3¢+ 10 {2) BJ = = SJ -6

3) ES}imalse the \/afue of
) 297 x 2 b) Jau' x 197

23
) 19 x 0-2I d) 504 X 12
O+ 39

!+ h wobability  of Fawla  winni ne is L .
? The pro (,- j F inning Q Sai [ - |
The  probobil 55 of faua and Tohn  both winning is 7—5—

fFind  the ;WDchp‘af/%‘b Fat John  wins.

5) The probaba’ f}“fj of Karl w}'nn)ri? a raee is Q4.

The [)mba/aé(}é o{i A’arﬂ ?L"d UZWJj L&aiﬂf’lf'/“tﬂ fhe /aces
iSO RU.

Lind  Hhe pméa f/f/j fhat 'Temj wine her race .



